Adult hemoglobin

a- Is formed of two dimmers: (alpha 2 & Beta 1) 1 & (alpha 1 &Beta 2) 2

b- Contains a negatively charged pocket for attachment …

c- Is responsible for oxygen carriage from tissues to …

d- Can bind carbon dioxide directly

e- Undergoes degradation and resynthesis during the …
All about erythropoesis are true except

a- In infancy all of the bone marrow is hematopoetic

b- In adult life hematopoetic marrow is confined to the central … of femurs & humerus

c- Pregnancy is characterized by an increased rate of erythropoesis

d- Inrauterine erythropoesis takes places mainly in the b… trimesters

e- Liver and spleen can resume their fatal hematopoetic …

- Regarding Embden-Myerhof pathway ( glycolysis )

a- It needs the presence of glucose-6-phosphate dehydrogenase

b- Pyruvate is its end-product in RBCs

c- It produces reduced glutathione

d- It produces NADPH

e- It is an important energy source for the normal action ion
- The major cation in RBCs is

a- Sodium

b- Potassium

c- Calcium

d- Zinc

e- Magnesium
- The anion exchange protein in the red cell membrane

a- Ankyrin

b- Band 3

c- Band 4.1

d- Actin

e- Spectrin

- All of the following are functions of blood EXCEPT

a- Synthesis of carrier proteins

b- Transport of hormones

c- Coagulation

d- Regulation of body temp.

e- Buffering function
- Aging of RBC is associated with

a- Increased cell density

b- Increased potassium content

c- Decreased osmotic fragility

d- Increased sialic acid

e- Increased deformability
All the following can be NORMALLY seen in both the bone marrow & …

a- Mature RBC

b- Platelets

c- Lymphocytes

d- Normoblasts

e- Reticulocytes
- The RBCs acquire their flexibility through their

a- Lipid structure

b- Production of NADPH

c- Protein structure

d- Production of NADH

e- Carbohydrate structure
- The red blood cell mass is

a- High in individuals living at see level

b- 60-80 mg/ml

c- Affected by cardio-pulmonary function

d- The same in females and males

e- Decreased with decreased kidney perfusion
- The shape of the RBCs is maintained by the production of

a- Reduced glutathione

b- NADH

c- ATP

d- Lactate

e- NADPH
- ONE of the following statements about the composition of RBCs is INCORRECT

a- Water content is about 65%

b- Protein content is about 31-33%

c- Solid content is about 35%

d- Hemoglobin is the chief protein

e- The specific gravity is 1.026
- The binding site for plasmodium falciparum in the red cell membrane

a- Glycophorin B

b- Spectrin

c- Glycophorin A

d- Ankyrin

e- Glycophorin C
T&F 
11- 2,3 bisphosphoglycerate stabilizes deoxyhemoglobin
14- ABO blood groups are phospholipids
23- Erythropoetic production is increased by low atmospheric …
